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1 Write 500 as a product of powers of its prime factors.
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(Total for Question 1 is 3 marks)
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2 Work out 1= +2—
(a) Work ou 5 1

Give your answer as a mixed number.
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(Total for Question 2 is 4 marks)
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3 Simplify (275 x 2%)°

Give your answer as a power of 2

(1) - 2"

(Total for Question 3 is 2 marks)
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4 Work out 0.004 x 0.32

372

(Total for Question 4 is 2 marks)
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5 A car factory is going to make four different car models A, B, C and D.
80 people are asked which of the four models they would be most likely to buy.

The table shows information about the results.

Car model Number of people
A 23
B 15
C 30
D 12
(e e 40000

The factory is going to make 40000 cars next year.
X 500

Work out how many model B cars the factory should make next year.

OOSOO 500

g0 [iu%0doo X Ts
19500

S000

1500

(Total for Question 5 is 2 marks)
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6 Rizwan writes down three numbers a, b and ¢

a:b=1:3
b:c=6:5

(a) (1) Find a:b:c

C
. S

(i1) Express a as a fraction of the total of the three numbers a, b and ¢

Emma writes down three numbers m, n and p

n=2m
p=>5n
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force
pressure =
area
A storage tank exerts a force of 10000 newtons on the ground.
The base of the tank in contact with the ground is a 4m by 2 m rectangle.
Work out the pressure on the ground due to the tank.
Areor = Lk x1 = ¢
01250
2
g [ rodoo
IILSO ................ newtons/m?
(Total for Question 7 is 2 marks)
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8 Two numbers m and n are such that
m is a multiple of 5
n is an even number
the highest common factor (HCF) of m and n is 7

Write down a possible value for m and a possible value for n.

M : 6,10,15, 10, 25, %O@

boxhh U~ Ane T 4umes tosoles

(Total for Question 8 is 2 marks)
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9 (a) Complete the table of values for y = 6x —x* \ 3
6(-1)-(-2)  6(-)-(-1)>  6(0)-(0)y e(n)-(1)
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(b) On the grid, draw the graph of y = 6x —x* for values of x from —3 to 3
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10 Lina spins a biased 5-sided spinner 40 times.

10 .
Here are her results. 4o
Score 1 2 3 4 5
Frequency 6 8 9 7 10
Lina is now going to spin the spinner another two times.
(a) Work out an estimate for the probability that she gets a score of 5 both times.
— [
P ( 5,6) = L x —
|
o
(2)

Derek is going to spin the spinner a large number of times.

(b) Work out an estimate for the percentage of times Derek can expect to get a score of 1

. L
4o 20 100

(Total for Question 10 is 4 marks)
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Describe fully the single transformation that maps shape P onto shape Q.
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(Total for Question 11 is 2 marks)
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12 Solve the simultaneous equations

20> ¥
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(Total for Question 12 is 4 marks)
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13 p is inversely proportional to ¢

<5

pr—L

Tip: Inversely proportional means as
t decreases in size, p will increase.

<10

Complete the table of values. 5

t 100

>

25

20

L

A
Xy

XS

(Total for Question 13 is 3 marks)
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14 The table shows information about the weights, in grams, of some potatoes.

Weight (w grams) Number of potatoes FD
F 50 < w < 70 20 20 -10 = |
FD |CW 70 < w < 80 50 50210 = 5
80 < w < 90 60 0 =10 =0
90 < w < 110 30 20 210 = 1.5

On the grid, draw a histogram for this information.

A

K

Frequency

density

3

40 50 60

>
70 80 90 100 110 120

Weight (w grams)

(Total for Question 14 is 3 marks)
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Tip: The arc length is just a fraction
(Total for Question 15 is 3 marks)

of the whole circumference

18 cm

4 T
m
x 10

u 1] 0 I

18cm
x M x Sbo|=
Ll
26
x 10
>C

The length of the arc is 4zcm.

Work out the value of x.
X
260

15 The diagram shows a sector of a circle of radius 18 cm.

8% //m RRRRLZIZISS /5/)%//
Y34 : co:s £ 955 ,.?‘-z':q

l %0%0‘”0 00«&&%‘&0&0% 5

00

howtorevisemaths.co.uk



[EDEXCEL HIGHER Nov 2022 Paper 1] g

r

16 (a) Prove that

LHS -

e

(’LMM)('LM—H} z qrv\llf 1m+ 1w+ |
= L4 Ums |

Cm+1Y?—C2n-12=4m+n)(m—-—n+1)

(1a-0)(10-0) = A" -an-an + |
ko - kN4 |

"

Loan 4 {m+ | —(“NKH“*Q
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3 SR
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RWS q(Nnn)(mfﬂ+\) = (amtun)(m-n+ ) =

Sophia says that the result in part (a) shows that the difference of the squares of any two o
odd numbers must be a multiple of 4 B

(b) Is Sophia correct?
ou must give reasons for your answer. s

(Total for Question 16 is 4 marks) \
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17 Work out the value of 2—7

\
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(Total for Question 17 is 2 marks)
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18

A and B are points on a circle, centre O.
DBC is the tangent to the circle at B.
Angle AOB = x°

1
Show that angle ABC = 5 x°

You must give a reason for each stage of your working.

- !
Z OBA = <opB = 180 - = a0 =
2

Base angles of an Isosceles triangle are equal

ZABC < qo—(qo ~,'2—x> - ___lL,:c

The radius meets the tangent at 90°

(Total for Question 18 is 3 marks)
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19 Solve — —
X

1

x+1 a

Give your answer in the form a + b~/2 where a and b are fractions.

‘('X‘\") ‘(x) = q»
> (xX*\) x (¢4 1)
x ¥+ - > - ‘+
> (x+1)
! .y
x*+ X
x (x'4 %) K (xtex)
\ z L\xt‘f Yy
- - bt [btgac
0 = L\xi“'“\x" 2o

o=y b=l C=-|

NS EMITRTCN
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y DN T
L\’ B J \o +16 (Total for Question 19 is S marks)
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20 Alfie has 11 cards.

Tip: To find the probabiity that he
takes two cards of different colours,
you can find the probabiity that he

3 blue cards takes two cards of the same colour and
7 green cards f'JI/CI \/NI1IY ANCI\A/AY A\A/ANT 'Frnm 1

and 1 white card.

He has

Alfie takes at random 2 of these cards.

Work out the probability that he takes cards of different colours.

e Soane CD\GVS _

b
6,6.—%X%"To' -;%*ﬁi”%
6. a = 7/\”%7%

W w = MOy possiow

(Total for Question 20 is 3 marks)
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22 Here is a triangle ABC.

SinA _ Sinb ’

4 6.5cm C

Work out the value of sin ABC

Give your answer in the form — where m and n are integers.
n

Sin X _ SI‘I\(‘S())
L c 0.1

Sinx |-| 0.5
6.5 10.1 L.% % 0:56= 3.26
x 6.5 x 6.5
[
. = ?).1,5 - %’L
SR 5. 010
e
X 100

%25

(Total for Question 22 is 4 marks)
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23 Here are the first five terms of a geometric sequence.

J5 205

(a) Work out the next term of the sequence.

10

yooJs ¥ 2J5 =

542
The 4th term of a different geometric sequence is T\/_

542

The 6th term of this sequence is 5

Given that the terms of this sequence are all positive,

(b) work out the first term of this sequence.
You must show all your working.

Tip: Geometric means you multiply
by the same number each time

400+/5

A
X 1S

200

g00(5)

sz 5J2 s
7 S Y « 3
¥ 1 X1
6\[—{ " Ap) - 5(1/) - _'9_ = 5
2 l 1 "

(Total for Question 23 is 5 marks)
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(a) Find r:h
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24 Here is a solid sphere and a solid cone.

4
Volume of sphere = 3 Tl

All measurements are in cm.

The volume of the sphere is equal to the volume of the cone.

Give your answer in its simplest form.

1L mith
3
X%

fith

-
h

Volume of cone = —nr?h
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Here is a different solid sphere and a different solid cone.

DONOT WRITE IN THIS AREA:

Surface area of sphere = 4772 Curved area of cone = zr/

All measurements are in cm.

The surface area of the sphere is equal to the total surface area of the cone.

/ ! (b) Find r:h
ﬁ Give your answer in the form 1: Jn where n is an integer.
e _ 1 2
E Wme* = el o+ et RN
E $ 2
g hrrete o (Iwraer ) o+ T
| cre e
B mnet || e (Jnrecr)
o .
o S T( “fTr
30 || Jwrarr
2 1
<
& ar? || W
: NE -
2 X 5 . h
‘;g LI :}_ Vo Jg
5 RN e
5 Rl )

(Total for Question 24 is 6 marks)

TOTAL FOR PAPER IS 80 MARKS

howtorevisemaths.co.uk



